Tank Mounting Hardware Detail

Tank Leg Rail

N

1.25"x5.5" treated wood or
1.25"x3" rubber pad

*Note: Rubber padding is not included in
either 4 point or 6 point mounting kits.
padding can be purchased as an option

from our online store.

Rear Mounting Brackets driver & passenger sides

Tank Leg Rail

Tip: Use standard

3/4" nuts as temporary
spacers during the
welding of the top
bracket to tank

<

5/8" L ‘

J 1 — Note: Truck frame bottom

NEVER WELD OR DRILL
ON TRUCK FRAME FLANGE
Install pads to tank leg rails
before setting tank on to truck
frame. Do Not install (drill) to
truck frame flange!

Truck Frame Rail

End View

Tank Leg Rail

N\

1.25"x5.5" treated wood or
1.25"x3" rubber pad

*Note: Rubber padding is not included in
either 4 point or 6 point mounting kits.
padding can be purchased as an option

from our online store.

bracket must be flush with
top of truck frame.

*Note: Rubber padding is not included in
either 4 point or 6 point mounting kits.
padding can be purchased as an optwon

from our online store.

1.25"x5.5" treated wood
1.25"x3" rubber pad

(TTTTTT WeldArea” ~ ~ ~ ~ ~ )
2 N =
vl o
] ]

] I
| |
19! l E'
<|! la
3! 5
:; | : 8
] ! ] !
g imma i1 ‘L

or

1
o] |

*Mount All bottom brackets to

truck frame first.

Any bolt subsitution mus be
of equal size and grade

S
O

Pre-drilled 13/16" hole Pre-drilled 13/16" hole

Truck Frame Rail

Side View

Front & Middle Mounting Brackets driver & passenger sides

Torque bolts

40-50 Ft. Ibs.

NEVER WELD ON
TRUCK F

Tip: Use standard

3/4" nuts as temporary
spacers during the
welding of the top
bracket to tank

Tank Leg Rail

N

Wel'd'Ar'eé -

*Note: Rubber padding is not included in |
either 4 point or 6 point mounting kits.
padding can be purchased as an option '

from our online store.

L

I

)

1/4" to 3/8"
compression

Baly ploM

\

L

N

NEVER WELD OR DRILL

H

Note: Truck frame bottom
bracket must be flush with
top of truck frame.

1.25"x5.5" treated wood or
1.25"x3" rubber pad

*Mount All bottom brackets to

Torque bolts

ON TRUCK FRAME FLANGE truck frame first., Q Q 40 Ft. Ibs.
Install pads to tank leg rails Pre-drilled 13/16" hole Pre-drilled 13/16" hole
before setting tank on to truck Angft()eolt ;Fé’sgu;h%n mau(?ebe
frame. Do Not install (drill) to qual siz gri
truck frame flange!
H NEVER WELD ON
Truck Frame Rail Truck Frame Rail TRUCK FRAME
End View Side View
4 Point Mount Kit 6 Point Mount Kit

(8) 3"x5/8" Grade 5 bolt (4) 4" HD Springs

( (16) 3/4" Flat Washers

(8) 5/8" Lock & Flat Washers ~ (4) 3/4" Lock Washers

(4) 6 1/2" x 3/4" Grade 5 bolts (4) 3/4" Nut

(4) 3/4" Lock nuts (4) 7"x5"x1/2" frame brackets
(4) 3"x3/4" Grade 5 bolt (4) 7"x5"x1/2" tank rail brackets

(12) 3"x5/8" Grade 5 bolt (8) 4" HD Springs
(12) 5/8" Nut (24) 3/4" Flat Washers
(12) 5/8" Lock & Flat Washers ~ (4) 3/4" Lock Washers

(8) 6 1/2" x 3/4" Grade 5 bolts
(8) 3/4" Lock nuts
(4) 3"x3/4" Grade 5 bolt

(4) 3/4" Nut

(6) 7"x5"x1/2" frame brackets
(6) 7"x5"x1/2" tank rail brackets

5/1/10




